Motion quiz

Given a particle is traveling in a straight line and its position from the origin at any time in the interval
[1,10] is defined by the function p(t) = 3In(t*) - 2t answer the following...

1} Which expression would determine the particles average velocity in the time interval given?

a. 10)-p(1 b. v(10) ~ v{1) c.v(lo)—v(l) d.p(lﬂ)—p(l)
p{10) ~ p(1) e -

2} What is the velocity function for this particle? {this should clean up pretty nicely)

3) What is the acceleration function for this particle?

4} s the particle moving to the right, the left, or neither at t = 27 Supply justification

5) is the particle speeding up or slowing down at t = 2?7 Supply justification

6) Set up but do not solve the expression that could determine the total distance traveled by the
particle in the time interval given.
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